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5 a. Deduce the condition for Optimal load dispatch&qg!,rcting transmission losses.

b. The fuel cost of 2 units is given by 
...,.. 
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Fr:1 .5+20Pcr + 0.1 P], Rs/hr i ,FLf 1.9 + 30 P62+0.1 pif
ic itl.li. " tuMnr , :,:,:

Where Pcr and P62 are in MW. Find the&ptimal load scheduling'heglecting

,r
d

+1i'i,+rilii,

Develop the

,I to 2.

158E71

(08 Marks)

loss when
(08 Marks)

(08 Marks)

(08 Marks)
inequality constraints.
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demand is 200MW.

6 a. Define Unit Commitment.
solution with flow chart.

b. A Generator is
generator to be i
is the incremental
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and an increment*t'"hange in load of 4MW requires erequres a

. The increment$rc-3t at the plant is 30 Rs/lvIW. hr, what

7 a. Write short rsite$'oh :

i) Power Sffite* reliability
b. Explain *F t flow chart,
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Discuss the solution
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Explain the benefits of

Derive Z5* equa$iffi,,-..4vhen a branch is
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equation using Kttage - Kutta method.
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